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A = {x |x ≥ 2}B = {x |x < −1}A ∪ B

B = {x ∈ Q |−2 < x < −1}A = {x ∈ R |−2 < x < 1}

B = {x ∈ R |0 < x ≤ 4}A = {1, 2, 3, 4}
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|x − 5| = |2x + 7|
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a + b ∈ Q′ab ∈ Ra − b ∈ Q′b ∈a2 Q′

|a + b| < |a| + |b|

b > 0 a > 0b < 0 a < 0ab < 0ab = 0

1

abadgaranedu.ir



کسر عدد   کدام است؟ - 13

اگر  باشد حاصل عبارت زیر را بدست آورید. - 14

حاصل عبارت زیر را به دست آورید. - 15

نا معادلۀ مقابل را حل کنید. - 16

2٫029¯ ¯¯̄ ¯

2009
990

2009
999

2009
900

2029
999

−1 < a < 0

|2a − 1| + |2 − a| =

+ +
19
20!

20
21!

21
22!

|2x + 8| < |2x − 12|

2

ی نهم
ض

صل دوم ریا
ف

abadgaranedu.ir


